>
A & 0l & AF 2 E A A
20138 & S0la LB ==X ~ LelF X
2H o=
HE: LEMBX LS
SR =EASEE EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Lel=X 435,338,536 403,054,602 32,283,934
= 359, 155,871
J| 2,984,889
=2 26,114,616
< 47,083,160
sl LsE 349,526,821 321,781,895 27,744,926
= 327,225,239
J| 1,607,128
< 20,694,454
CEASEEEY 23,551,710 16,108,225 7,443,485
= 17,840,100
< 5,711,610
SO HEENEMNHZ2E 82,800 82,000 800
308 XX EHHSOIA 82,800 82,000 800
01 HXNHHNBHELS 82,800 82,000 800
Oeld el ZEXNJUE2E 82,800
ColgRe| Mgl e 19,200 19,200 0
= 9,600
< 9,600
101 @124 dl 19,200 19,200 0
= 9,600
< 9,600
04 JIZHHZ2XREE S 19,200 19,200 0
OogdXiteldgogo e 19,200
= 9,600
= 9,600
Lol eI AL RI & 23,179,650 15,768,225 7,411,425
= 17,830,500
< 5,349,150
308 XXIEHH SOl A 23,179,650 15,768,225 7,411,425
= 17,830,500
< 5,349,150
01 AXHHIYEES 23,179,650 15,768,225 7,411,425
O Xtel At 23,179,650
O dRtel MR 23,097,425
= 17,767,250
< 5,330,175
O g2 U=l 82,225
= 63,250
S 18,975
ColdXtel AFE KT (KA 270,060 238,800 31,260
307 21201 A 15,000 15,000 0
10 A2l =S X2 X 15,000 15,000 0
O dXelAg2AHNRAIS 15,000




2N
X ZH -
L= B

el

FH H
Hon Hon re
B 0z i
I e A
X |
0¥ 0

0y

ton

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 255,060 223,800 31,260
01 IXNHHBNEES 255,060 223,800 31,260
OXgsga -l dRel At 156,060
oIt 2 0=l A Xkl AFH O 2 HI X & 99,000
ZE2AMYE0IS2OA MDD 4,379,135 1,976,047 2,403,088
= 2,900,435
J| 107,128
& 1,371,572
COANERELHM G RFA 77,925 181,562 A 103,637
201 £B-2dH| 62,200 165,042 A 102,842
01 At 22l 62,200 165,042 A 102,842
Ogst=2tl 10,000
OeEXgRFA=EH| 10,000
E=3=q:] 2,200
OLoANEZLH 2Ll RFES I 2,200
OMUNAKICHAIZE E 50,000
202 O4dl 10,725 11,520 AT795
01 = LH 4 Hi 10,725 11,520 AT795
OLQAEREZLRFTOL 10,725
203 YR =2l 5,000 5,000 0
03 A FAH S =AY 5,000 5,000 0
OZZANEEL el 2eldRFA 5,000
CH 8= 01 3] AF S HI X & 80,000 55,000 25,000
307 21201 A 80,000 55,000 25,000
10 Al =S X2 X 80,000 55,000 25,000
Ot =S ASHI XA (=0UERLS) 35,000
OLEEXTRS 20,000
O3 IsHIHMNLY 25,000
OB Ol ALK& 40,000 40,000 0
308 A EHHSOIA 40,000 40,000 0
01 HIXNHHNBHEES 40,000 40,000 0
OHHOIE AR & 40,000
ol ALK& 20,000 20,000 0
307 gl & 20,000 20,000 0
10 AtSI =X 2 X 20,000 20,000 0
O Qrolall At 20,000
CONMEAHEAREINA 21,000 21,000 0
308 XtXIEHH SOl A 21,000 21,000 0
01 AXHHBILEES 21,000 21,000 0




2AM: LelsX
HE: LEMBX LS
CHelr BRAAULCOIZUA D (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oxeld=z2d223 N 21,000
LOESHEEI 22 530,870 483,878 46,992
= 265,435
= 265,435
307 21201 A 530,870 483,878 46,992
= 265,435
< 265,435
10 A2l =S X2 X 530,870 483,878 46,992
OLEsdEIN 22| 530,870
= 265,435
= 265,435
LOESHEEI2LANEEHEZE 30,800 28,000 2,800
308 At EHHSOIA 30,800 28,000 2,800
01 HIXNHHNBMNEELES 30,800 28,000 2,800
OLoESHEIIZLANEH2Y 30,800
LOESHEBII2EZEHHIE 153,040 146,607 6,433
J| 107,128
< 45,912
307 glz2+ol & 153,040 146,607 6,433
J| 107,128
< 45,912
10 A3l =S X2 X 153,040 146,607 6,433
Ot dEEHRI NS (EX) 153,040
J| 107,128
< 45,912
SEHUSAHE XA 2,743,000 0 2,743,000
= 2,110,000
< 633,000
403 A X EH S =0l A 2,743,000 0 2,743,000
= 2,110,000
< 633,000
01 X HHX2E= 2,743,000 0 2,743,000
ODsEE AR 2,743,000
= 2,110,000
< 633,000
SHssusE ALl 682,500 0 682,500
= 525,000
< 157,500
308 AHAIEHHSOIA 682,500 0 682,500
= 525,000
< 157,500
01 HIXNHHBMNEELES 682,500 0 682,500
OkossodasusdolAdzae] 682,500
= 525,000
< 157,500




2AM: LelsX
B LSMEXAYE
Chelr B S MR (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
DS N 321,595,976 303,697,623 17,898,353
= 306,484,704
| 1,500,000
< 13,611,272
AHAASAHZ2Z 48,300 48,300 0
308 XXM S0 A 48,300 48,300 0
01 AXSGHBLEES 48,300 48,300 0
OABNESAEHR2SE 48,300
L oI XA =S A 5,000 5,000 0
307 2I2t0l A 5,000 5,000 0
10 A3l =X 2 = 5,000 5,000 0
OIS AMSHE I 5,000
=gz NE 320,042,676 302,044,323 17,998,353
= 306,484,704
< 13,557,972
308 XXIEHSO0IA 320,042,676 302,044,323 17,998,353
= 306,484,704
< 13,557,972
01 AXNHHMBAMNEES 320,042,676 302,044,323 17,998,353
OJ=g8H32 K& 320,042,676
= 306,484,704
< 13,557,972
N EXNWUSHH 1,500,000 1,500,000 0
| 1,500,000
403 XXM S X201 1,500,000 1,500,000 0
J| 1,500,000
01 HXHMA=LE X 1,500,000 1,500,000 0
O nddssANUSIHAEY 1,500,000
| 1,500,000
LolotMAEAHEH 31,155,289 29,876,778 1,278,511
= 24,814,870
| 1,377,761
= 4,962,658
Lo gzsXEX 1,996,389 1,652,749 343,640
| 1,220,261
< 776,128
XA dEH2F 25,000 25,000 0
308 XXM SO0 A 25,000 25,000 0
01 AXNSHHBAEES 25,000 25,000 0
OXMHaAEHdH2EH K& (01Y) 25,000
CELAMERYEAANE LEH 7Y 250,000 0 250,000
402 RIZ2FXt20l ™ 250,000 0 250,000
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2AM: LelsX
HH: COMYPASE
S TP EFS EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 322,400 0 322,400
OXIhHAEE A2 322,400
J| 248,000
< 74,400
LN M AES 14,245,300 11,968,029 2,277,271
= 11,662,870
J| 157,500
< 2,424,930
FAZCUWIAX A 98,000 98,000 0
307 21201 A 98,000 98,000 0
10 AFRISXIEX 98,000 98,000 0
OZAZEMI2AHIXS 98,000
FPOAELQHASZHE L AUHRE 2D 182,000 132,600 49,400
308 XM SOIH 182,000 132,600 49,400
01 HXNHHBHELS 182,000 132,600 49,400
ORYELALSSHELHR 2] 182,000
HASTHIOLC QAL A E 191,625 191,625 0
308 XX EHHSOIA 191,625 191,625 0
01 HIXNHHNBNEES 191,625 191,625 0
OMASMIOt- LA ALEH E (0] ) 191,625
T2 RIS 254,800 249,600 5,200
308 XXM SOIA 254,800 249,600 5,200
01 AXHHBYEES 254,800 249,600 5,200
OZ2AY2R2E=A(012) 254,800
LEHSAHRFA 36,425 35,520 905
201 2et24d] 20,700 19,000 1,700
01 At 2teltl 10,700 9,000 1,700
Ogst=2tl 8,900
ORLESAMINASRAUS 6,900
OHAXNEMIHSHRAUS 2,000
O=gl 1,800
OLEASIILRLFASEH| 1,800
02 =224l 10,000 10,000 0
O03323LAA 10,000
ORLESANLEFIINREZ 10,000
202 o4l 10,725 11,520 AT795
01 = LH 4 Hi 10,725 11,520 AT795
DR800 10,725
203 R =&t 5,000 5,000 0




2AM: LelsX
HH: COMYPASE
S SQXJAMEIASS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A F=XH S =AY 5,000 5,000 0
OLEASHNLLE 5,000
SHC QI ME 2P| AHIFA ALY 5,946,251 5,392,138 554,113
= 5,268,830
< 677,421
308 XtXIEHHSOIA 5,946,251 5,392,138 554,113
= 5,268,830
< 677,421
01 HXNHHBHEELS 5,946,251 5,392,138 554,113
OSHE QI MES | AITIA ALY 5,946,251
= 5,268,830
< 677,421
SEHALUSSAFELZ0ME(2F) 204,750 127,980 76,770
J| 157,500
< 47,250
403 Ut SHHSA=0l& 204,750 0 204,750
J| 157,500
= 47,250
01 HXSHMA=E X 204,750 0 204,750
OSH-ASSAHESL0IME(2E) 204,750
J| 157,500
< 47,250
SHC QM2 ALTH S 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
10 A3l S X2 = 20,000 20,000 0
OSsH-olMeE e At &l 20,000
LOEB0XA(Ex) 6,993,353 5,635,259 1,358,094
= 6,196,640
< 796,713
308 XtXIEHHSOIA 6,993,353 5,635,259 1,358,094
= 6,196,640
< 796,713
01 HXNHHBHELS 6,993,353 5,635,259 1,358,094
OLol=s20IHt* ™ A& 6,993,353
= 6,196,640
< 796,713
A=l MEX S &I 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
10 AtEI S X2 X 50,000 50,000 0
Ozl May U &It 50,000
SOOI QL ESAMRAS 2L AR 12,944 13,027 A83
101 1244 dl 12,944 13,027 A 83
0412t Z2XRESES 12,944 13,027 A83




2H o=
M LONULAZZ
el XEABAES CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
JRABSAIAHZ 22 Y 12,944
CEAANS AR AS X 5,000 5,000 0
201 Let24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OJgxs 5,000
OkelB2HAG2AETRASI AR Z 5,000
IZZFEYILZEORA 27,372 0 27,372
308 XXM SO0l A 27,372 0 27,372
01 IXNHHBNEES 27,372 0 27,372
COFS 02N HHI X2 (40 2) 18,372
OJIZZCWI2HYI KA (18I L) 9,000
SHSSAHES202E 222,780 0 222,780
= 197,400
= 25,380
308 XX EHSOIA 222,780 0 222,780
= 197,400
< 25,380
01 HIXNHHBNEES 222,780 0 222,780
OsHASsddsE0=2d 222,780
= 197,400
= 25,380
ZAAIE EX 14,913,600 16,256,000 A 1,342,400
= 13,152,000
< 1,761,600
SHEANEE X ALY 14,913,600 14,708,500 205,100
= 13,152,000
< 1,761,600
403 MtXISHHE X201 & 14,913,600 5,888,500 9,025, 100
= 13,152,000
< 1,761,600
01 XM A=2EE 14,913,600 5,888,500 9,025, 100
OStEAIE & XA 7,633,600
= 5,872,000
< 1,761,600
OZgEMNBEZY 7,280,000
= 7,280,000
LANE=EXNSE 54,606,373 51,356,794 3,249,579
= 7,115,762
& 26,114,616
< 21,375,995
COHIAE 2SR XE 8,400,966 2,917,912 5,483,054
= 3,350,041
< 5,050,925

oo




2N
X ZH -
L= B

el

FH H
e e re
-

nx =
H0 Ol
02 A

o

2>t
nx
>

EDN

0

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
LolWARHA 99,000 92,700 6,300
308 AHXIEHH SOl 99,000 92,700 6,300
01 HIXNHHBNEES 99,000 92,700 6,300
OLonaad 99,000
222X & 2,766,000 2,728,212 37,788
308 XXIEHHSOIA 2,766,000 2,728,212 37,788
01 AXHHBILEES 2,766,000 2,728,212 37,788
OZ2YSEASHI(01L) 1,755,000
OZd2d2d X2 (01Y) 975,000
OZ2 43 AI(012) 36,000
ZRE=3Ze )d2d 30,000 30,000 0
307 21201 A 30,000 30,000 0
10 AFRISXIE X 30,000 30,000 0
O32E= 220824 30,000
Lo RsasiE 145,900 67,000 78,900
307 21201 A 55,000 0 55,000
10 A2l S X2 X 55,000 0 55,000
CIYoYO= st Ml oK = 55,000
308 XXM SO0 A 90,900 67,000 23,900
01 HIXNHHBNEES 90,900 67,000 23,900
avovosdos+t=2d 45,000
OyovoSg & 4dstkd 45,900
FE2ESEIIUHEH XA 5,360,066 0 5,360,066
= 3,350,041
< 2,010,025
308 X EHSOIA 5,360,066 0 5,360,066
= 3,350,041
< 2,010,025
01 HXNHHNBMNEELS 5,360,066 0 5,360,066
OZ2EsEIIHHHIN 4,276,750
= 2,779,875
< 1,496,875
O3 22H XA 1,083,316
= 570,166
< 513,150
C=ETANEES 5,523,477 10,502,997 A4,979,520
= 3,556,521
< 1,966,956
COSAN2AEHLMNE > 800,000 1,500,000 A700,000
403 MHXISHHE X201 H 800,000 1,500,000 A700,000




5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A 2E X 800,000 1,500,000 A 700,000
O =EX2HE(0]2) 800,000
Lo2XAdl)IsEB2dAY 4,623,477 9,002,997 N4 ,379,520
= 3,556,521
o= 1,066,956
403 AIXSHHME X201 N 4,623,477 9,002,997 N4 ,379,520
= 3,556,521
=} 1,066,956
01 XS A2E X 4,623,477 9,002,997 N4,379,520
O =EXNAEINsELALY 4,623,477
= 3,556,521
& 1,066,956
COIEXAEINsSsELAS (XHA) 100,000 0 100,000
403 XX SHHS K20 & 100,000 0 100,000
01 XIS A=2E X 100,000 0 100,000
O EXAEI)sELAS(RA) 100,000
LoEIANERY 40,681,930 37,935,885 2,746,045
= 209,200
=2 26,114,616
& 14,358,114
LOISXAIE AR 89,000 82,020 6,980
308 XXIGHMSOIA 89,000 82,020 6,980
01 AIKISHHEMNEXZ 89,000 82,020 6,980
OANEEsEog 22 X 42,000
OLQEXAEUdALRNZEHEA U2 EH| 8,000
O A 4T 20 2HY X 39,000
LOSIAIE2I X 1,903,440 1,398,420 505,020
307 giztol A 39,400 14,400 25,000
10 Al S X EX 39,400 14,400 25,000
O E2XNANENAAHATHESFMA NS 25,000
O EXNAESIEEHEAE 14,400
308 XAHXIGH SOl A 1,864,040 1,384,020 480,020
01 AIKISHHEMNEXZ 1,864,040 1,384,020 480,020
Oel2gdLo=2IAE2222Xd 32,000
O =SXNAESAMANEE 1,832,040
COAE2H0IY 38,195,785 35,953,785 2,242,000
= 26,114,616
== 12,081,169
308 AXIEHSOIA 38,195,785 35,953,785 2,242,000
= 26,114,616
= 12,081,169




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AIXHMBAEXZ 38,195,785 35,953,785 2,242,000
OJUZAESHH XS (01Y) 2,177,143
= 1,385,455
< 791,688
OFIQAINA2AXK(012) 36,018,642
= 24,729,161
& 11,289,481
COIAEXNJAL R 34,825 47,780 AN 12,955
201 et A | 4,100 16,260 A 12,160
01 AFR22t2l Yl 4,100 16,260 A 12,160
OBt ZH| 1,800
OLQANEXNIALR=SHI| 1,800
o294 500
OLoANEXE2E Y 500
O3 &8l 1,800
OLQANEXN AL R=EZ S| 1,800
202 O B 10,725 11,520 AT95
01 2L Y] 10,725 11,520 A T95
OLQAEXNJLERF=E0 I 10,725
203 ¥R =&H| 5,000 5,000 0
03 A =X R =XIH| 5,000 5,000 0
OLQAEXLERFA 5,000
307 QI2t0| M 15,000 15,000 0
10 ALSI S X2 = 15,000 15,000 0
OS2 =XIAI&AHEA S AFALY 15,000
AEAIAERISOAXN R (EXR) 209,200 209,200 0
= 209,200
308 XX S M SO0l & 209,200 209,200 0
= 209,200
01 AXHNBMNEXTZ 209,200 209,200 0
O =A== AL el stol X & 209,200
= 209,200
ALEF SISO X & 50,000 50,000 0
308 AXISHMSOIHA 50,000 50,000 0
01 AIXHMBAEEXZ 50,000 50,000 0
CIAIESISHOIDIZE & AL 50,000
Mot 2SS 199,680 194,680 5,000
307 QI2t0| & 15,000 10,000 5,000
10 MaISXEX 15,000 10,000 5,000
OIS XNALNJ NS 15,000
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10,918
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9,842
9,842

285
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791

791
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H3r
Wikd
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184,680
184,680

39,135

20,098
20,098

9,658
9,658

10,440
10,440

19,037

19,037

19,037
19,037

Off &t 24

184,680
184,680
184,680

50,053

30,225
30,225

19,500
19,500
17,500
14,500

3,000
2,000
2,000

10,725
10,725
10,725

19,828

19,828

19,828
19,828
19,828
10,208

3,403
2,124
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720
1,200
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